
MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

FACTORISATION OF POLYNOMIALS

Solved Examples

1. Factorize 

(i)  


(ii)  


5a2 − 20ab

36a3b − 60a2bc

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aV92SilC7yGK


(iii)  


(iv)

Watch Video Solution

5a(b + c) − 7b(b + c)

6(2a + 3b)2 − 8(2a + 3b)

2. Factorize .

Watch Video Solution

x(x − y)3 + 3x2y(x − y)

3. Factorize 

 


 


 


(i)ab + bc + ax + cx

(ii)x2 + 3x + x + 3

(iii)6ab − b2 + 12ac − 2bc

(iv)a2 − b − ab − a

https://dl.doubtnut.com/l/_aV92SilC7yGK
https://dl.doubtnut.com/l/_A2biHe4DYMGO
https://dl.doubtnut.com/l/_xGlhVyRTgs8E


Watch Video Solution

4. Factorize .

Watch Video Solution

x2 + + 2 − 2x −
1

x2

2

x

5. Factorize 

Watch Video Solution

1 + x + y − z + xy − yz − zx − xyz

6. Factorize .

Watch Video Solution

(2x − 3)2 − 8x + 12

https://dl.doubtnut.com/l/_xGlhVyRTgs8E
https://dl.doubtnut.com/l/_PYOevVjxkrS3
https://dl.doubtnut.com/l/_uEmdXJjBeGtQ
https://dl.doubtnut.com/l/_ep5H8wewqS4e


7. Factorize 

 


 


Watch Video Solution

(i)(x2 − )
y2

100

(ii)(100 − 9x2)

(iii)(49x2 − )
1

4

8. Factroize 

 


 


.

Watch Video Solution

(i)(x3 − x)

(ii)18a2x2 − 32)

(iii)(2a5 − 32a)

https://dl.doubtnut.com/l/_ep5H8wewqS4e
https://dl.doubtnut.com/l/_9UbZd5jIzzSX
https://dl.doubtnut.com/l/_vNkTdY6ca3AC


9. Factroize 

 


Watch Video Solution

(i)x2 − 1 − 2a − a2

(ii)1 + 2ab − (a2 + b2)

10. Factorize 

 


 


Watch Video Solution

(i)(x4 + 4)

(ii)(x2 + )
4

x2

(iii)(x4 + + 1)
1

x4

https://dl.doubtnut.com/l/_vNkTdY6ca3AC
https://dl.doubtnut.com/l/_NwUCBwogjWAa
https://dl.doubtnut.com/l/_mJ1cD6vinPUd
https://dl.doubtnut.com/l/_RogEc3TQxu1G


11. Factorize: 

Watch Video Solution

x4 + x2y2 + y4

12. Factorize .

Watch Video Solution

a(a − 1) − b(b − 1)

13. Factorize  


Watch Video Solution

(i)(x4 + 3x2 + 4)

(ii)(x4 + 5x2 + 9)

https://dl.doubtnut.com/l/_RogEc3TQxu1G
https://dl.doubtnut.com/l/_B6AqmELt8CRa
https://dl.doubtnut.com/l/_N6jAwPZ9hOJl
https://dl.doubtnut.com/l/_ttBvKGzKMeVW


14. Factorize each of the following algebraic

expressions :
 
(ii) 

Watch Video Solution

x8 − y8 a12x4 − a4x12

15. Factorize .

Watch Video Solution

(2x + )
2

− (x − )
21

3

1

2

16. Factorize : 

Watch Video Solution

x2 + 9x + 18

https://dl.doubtnut.com/l/_ttBvKGzKMeVW
https://dl.doubtnut.com/l/_wJXKR6aTrfGN
https://dl.doubtnut.com/l/_a30tExSX9rDH


17. Factorize .

Watch Video Solution

x2 + 5x − 24

18. Factorize .

Watch Video Solution

x2 − 4x − 21

19. Factorize 

 


Watch Video Solution

(i)x2 + 5√3x + 12

(ii)x2 + 3√3x − 30

https://dl.doubtnut.com/l/_d5F6gTRsoCPH
https://dl.doubtnut.com/l/_KqgMCkr9F6wi
https://dl.doubtnut.com/l/_X2RPOKoJITli


20. Factorize .

Watch Video Solution

(p + q)2 − 20(p + q) − 125

21. Factorize .

Watch Video Solution

a4 + 4a2 + 3

22. 

Watch Video Solution

6x2 + 17x + 5 = ?

https://dl.doubtnut.com/l/_u0hpPRp7a5sZ
https://dl.doubtnut.com/l/_9yh0S3zVu7qN
https://dl.doubtnut.com/l/_KFjLlMvnjI8g


23. 

Watch Video Solution

√2x2 + 9x + 4√2

24. 

Watch Video Solution

2x2 + 11x − 21

25. Factorize .

Watch Video Solution

6x2 + 7x − 3

https://dl.doubtnut.com/l/_Lpvluy48eyeK
https://dl.doubtnut.com/l/_t3jVYh93274R
https://dl.doubtnut.com/l/_9omHeC3pfY5h


26. Factorize .

Watch Video Solution

9x2 − 22x + 8

27. Factorize 

Watch Video Solution

35y2 + 13y − 12

28. Factorize each of the following expressions :




Watch Video Solution

4√3x2 + 5x − 2√3 5√5x2 + 30x + 8√5

7√2x2 − 10x − 4√2

https://dl.doubtnut.com/l/_U6xJk7FW1DGF
https://dl.doubtnut.com/l/_gmrZTH4ByrcG
https://dl.doubtnut.com/l/_2pDcFMkwwWD4


29. Factorize .

Watch Video Solution

2x2 − 7x − 39

30. Factorize .

Watch Video Solution

42 − r − r2

31. 

Watch Video Solution

2x2 − x +
5

6

1

12

https://dl.doubtnut.com/l/_LtnPlsgk8ClJ
https://dl.doubtnut.com/l/_ZVXznpfdhHE8
https://dl.doubtnut.com/l/_5OYQQKi1smWK


32. Factorize: 

Watch Video Solution

5(3x + y)2 + 6(3x + y) − 8

33. Factorize .

Watch Video Solution

x4 − 3x2 + 2

34. Factorize of the
 expression:

Watch Video Solution

7√2 x2 − 10x − 4√2

https://dl.doubtnut.com/l/_sNjVMIKwLAsb
https://dl.doubtnut.com/l/_8uDp8IDsCvPa
https://dl.doubtnut.com/l/_GNGyLHdh0fEl
https://dl.doubtnut.com/l/_lKPNBFkboMTZ


35. Factorize of the
expression:


Watch Video Solution

5√5 x2 + 30x + 8√5

36. Factorize .

Watch Video Solution

4x2 + 20x + 25

37. Expand .

Watch Video Solution

(2a + 3b + 4c)2

https://dl.doubtnut.com/l/_lKPNBFkboMTZ
https://dl.doubtnut.com/l/_oOSank9MOqpv
https://dl.doubtnut.com/l/_Cr27mYYd3P45


38. Expand the following 

(i)  (ii)  


(iii) 

Watch Video Solution

(4a − b + ac)2 (3a − 5b − c)2

( − x + 2y − 3z)2

39. Factorize

.

Watch Video Solution

9x2 + 4y2 + 16z2 + 12xy − 16yz − 24xz

40. Factorise the following : 

 
(i)9x2 + 4y2 + 16z2 + 12xy − 16yz − 24xz

https://dl.doubtnut.com/l/_AR0gc69DN2Yp
https://dl.doubtnut.com/l/_91EruvY6nnxu
https://dl.doubtnut.com/l/_O6LK1HkMBjPL


 


Watch Video Solution

(ii)25x2 + 16y2 + 4z2 − 40xy + 16yz − 20xz

(iii)16x2 + 4y2 + 9z2 − 16xy − 12yz + 24xz

41. factorise

Watch Video Solution

2x2 + y2 + 8z2 − 2√2xy + 4√2yz − 8xz

42. Evaluate  


 


W t h Vid S l ti

(i)101 × 102

(ii)(999)2

(iii)(997)2

https://dl.doubtnut.com/l/_O6LK1HkMBjPL
https://dl.doubtnut.com/l/_9a48QFbQudIT
https://dl.doubtnut.com/l/_O5zN2KP1LxC3


Watch Video Solution

43. Expand (i)  

(ii) 

Watch Video Solution

(4a + 5b)3

(3a − 2b)3

44. Expand the following 

 (iii) 

Watch Video Solution

(i)(3a − 2b)3(ii)( + )
3

1

x

y

3
(4 − )

2
1

3x

45. Simplify :(2x − 5y)
3
− (2x + 5y)

3

https://dl.doubtnut.com/l/_O5zN2KP1LxC3
https://dl.doubtnut.com/l/_wzsP2isi0IeU
https://dl.doubtnut.com/l/_lI4iUOk1CqG9
https://dl.doubtnut.com/l/_r3BF038uSRMe


Watch Video Solution

46. Factorise 

Watch Video Solution

8a3 + b3 + 12a2b + 6ab2

47. Factorise 

 


.

Watch Video Solution

(i)27 − 125a3 − 135a + 225a2

(ii)1 − 64a3 − 12a + 48a2

https://dl.doubtnut.com/l/_r3BF038uSRMe
https://dl.doubtnut.com/l/_oHh8rgKB61FG
https://dl.doubtnut.com/l/_5RJJi4odWQYY


48. Factorise 

 


Watch Video Solution

(i)8p3 + p2 + p +
12

5

6

25

1

125

(ii)27p3 − p2 + p −
9

2

1

4

1

216

49. Simplify: 

Watch Video Solution

(x + y)3 − (x − y)3 − 6y(x2 − y2)

50. Evaluate  


Watch Video Solution

(i)(102)3

(ii)(999)3

https://dl.doubtnut.com/l/_emhMZYtkFGA7
https://dl.doubtnut.com/l/_Aqs6IIaxcEem
https://dl.doubtnut.com/l/_YiOzjiB8FGa0


Watch Video Solution

51. find the following products 

(ii) 

Watch Video Solution

(i)( + 2y)( − xy + 4y2)
x

2

x2

4

(x2 − 1)(x4 + x2 + 1)

52. Factroise 

 


 


Watch Video Solution

(i)1 + 64x3

(ii)27x3 + 125y3

(iii)(x + 1)
3
+ (x − 1)

3

https://dl.doubtnut.com/l/_YiOzjiB8FGa0
https://dl.doubtnut.com/l/_NHAL1XDoL79z
https://dl.doubtnut.com/l/_x3TyBeKX5lgG


53. Factroise 

 


 


Watch Video Solution

(i)a3 − 2√2b3

(ii)1 − 64a3

(iii)8a3 − 27b3

54. Factroise 

 


 


Watch Video Solution

(i)2a7 − 128a

(ii)a7 + ab6

(iii)32a3 + 108b3

https://dl.doubtnut.com/l/_D9I9UKo9bhH6
https://dl.doubtnut.com/l/_GAO1wAkrPyif
https://dl.doubtnut.com/l/_WkXNsojj5jWM


55. Factroise 

 


Watch Video Solution

(i)a3 + b3 + a + b

(ii)a3 − b3 − a + b

56. Factroise 

Watch Video Solution

(a6 − b6)

57. Factorize: 

Watch Video Solution

x6 − 7x3 − 8

https://dl.doubtnut.com/l/_WkXNsojj5jWM
https://dl.doubtnut.com/l/_GieP4iTglOzp
https://dl.doubtnut.com/l/_fqXtcGAGmg0f


58. Factorize: 

Watch Video Solution

x3 + 3x2 + 3x − 7

59. If ; find the value of 

Watch Video Solution

x + y = 12 and xy = 27

x3 + y3

60. Factroise .

Watch Video Solution

(2a + 3b)3 − (2a − 3b)3

https://dl.doubtnut.com/l/_88Lvyh84lXT3
https://dl.doubtnut.com/l/_O3TNGjU8syjL
https://dl.doubtnut.com/l/_zFH013E23ERl
https://dl.doubtnut.com/l/_UvtcATA1Jz1x


61. Find the product:

Watch Video Solution

(2x − y + 3z)(4x2 + y2 + 9z2 + 2xy + 3yz − 6xz)

62. Multiply:
 
 by 

Watch Video Solution

x2 + 4y2 + z2 + 2xy + xz − 2yz

x − 2y − z

63. 

Watch Video Solution

8x3 + y3 + 27z3 − 18xyz

https://dl.doubtnut.com/l/_UvtcATA1Jz1x
https://dl.doubtnut.com/l/_GA5qRps5hBnf
https://dl.doubtnut.com/l/_gZxeabks5y7S
https://dl.doubtnut.com/l/_cSpClnu722Ai


64. Factorise 

Watch Video Solution

a3 − 8b3 − 64c3 − 24abc

65. Factorize :


Watch Video Solution

2√2a3 + 8b3 − 27c3 + 18√2abc

66. Factorise .

Watch Video Solution

a3 − b3 + 1 + 3ab

https://dl.doubtnut.com/l/_cSpClnu722Ai
https://dl.doubtnut.com/l/_aSSWF4asivKG
https://dl.doubtnut.com/l/_84AQXaMl5xD0


67. If  and , then

prove that .

Watch Video Solution

a + b + c = 5 ab + bc + ca = 10

a3 + b3 + c3 − 3abc = − 25

68. Factorize : 

Watch Video Solution

(x − 2y)3 + (2y − 3z)3 + (3z − x)3

69. Factorise .

Watch Video Solution

(p − q)3 + (q − r)3 + (r − p)3

https://dl.doubtnut.com/l/_CPUi6a2mbPRs
https://dl.doubtnut.com/l/_9v0hb4865fXu
https://dl.doubtnut.com/l/_opz9pRnydFsE
https://dl.doubtnut.com/l/_cP5OVqGoDM0w


70. without actually calculating , the cubes , find the

valuse of 

(i) (ii) 

Watch Video Solution

( )
3

+ ( )
3

− ( )
3

1
2

1

3

5

6

(0.2)
3
− (0.3)

3
+ (0.1)

3

71. Find the value of

Watch Video Solution

x3 + y3 − 12xy + 64,   when  x + y = − 4

https://dl.doubtnut.com/l/_cP5OVqGoDM0w
https://dl.doubtnut.com/l/_jqPMS0ccNzMe


72. Find the value of 
 when 

Watch Video Solution

x3 − 8y3 − 36xy − 216,

x = 2y + 6.

73. If ; prove that 

Watch Video Solution

p = 2 − a a3 + 6ap + p3 − 8 = 0

74. Two numbers 
 are chosen at random with

replacement from the numbers 1, 2, 3, 4, 5,
 6, 7, 8 and

9. Find the probability that 
 for all 


.

bandc

x2 + bx + c > 0

x ∈ R

https://dl.doubtnut.com/l/_hpNJkj71nfcT
https://dl.doubtnut.com/l/_vmINiLJchKEt
https://dl.doubtnut.com/l/_byh3Ud9hOhUv


Exercise 3 A

Watch Video Solution

75. Simplify:


Watch Video Solution

(a2 − b2)
3
+ (b2 − c2)

3
+ (c2 − a2)

3

(a − b3 + (b − c)
3
+ (c − a)

3)

1. 

Watch Video Solution

9x2 + 12xy

https://dl.doubtnut.com/l/_byh3Ud9hOhUv
https://dl.doubtnut.com/l/_fjxk1qXssrUF
https://dl.doubtnut.com/l/_mUUaB9liDNVo


2. 

Watch Video Solution

18x2y − 24xyz

3. 

Watch Video Solution

27a3b3 − 45a4b2

4. 

Watch Video Solution

2a(x + y) − 3b(x + y)

https://dl.doubtnut.com/l/_2RooIwFtYrBR
https://dl.doubtnut.com/l/_CGmK9ZwlGOVX
https://dl.doubtnut.com/l/_YLbsy3b9D6o7


5. 

Watch Video Solution

2x(p2 + q2) + 4y(p2 + q2)

6. 

Watch Video Solution

x(a − 5) + y(5 − a)

7. 

Watch Video Solution

4(a + b) − 6(a + b)2

https://dl.doubtnut.com/l/_engpMqPzpR1R
https://dl.doubtnut.com/l/_G9CBsXwMjE1J
https://dl.doubtnut.com/l/_3xUjmCQk5CSx


8. 

Watch Video Solution

8(3a − 2b)2 − 10(3a − 2b)

9. Factorize .

Watch Video Solution

x(x − y)3 + 3x3 + 3x3y(x − y)

10. 

Watch Video Solution

x3 + 2x2 + 5x + 10

https://dl.doubtnut.com/l/_R3rncHdY6xo7
https://dl.doubtnut.com/l/_FF82r6snURG7
https://dl.doubtnut.com/l/_3Ya52cX5nxOQ


11. Factorize: 

Watch Video Solution

x2 + xy − 2xz − 2yz

12. 

Watch Video Solution

a3b − a2b + 5ab − 5b

13. factorise : 

Watch Video Solution

8 − 4a − 2a3 + a4

https://dl.doubtnut.com/l/_5YbapiYrUfEm
https://dl.doubtnut.com/l/_jDMY4IQYA8CX
https://dl.doubtnut.com/l/_VHNe9h62v2fw


14. Factorise : 

Watch Video Solution

x3 + 3xy2 − 2x2y − 6y3

15. Factorise : 

Watch Video Solution

px − 5q − 5x + pq

16. Factorise : 

Watch Video Solution

x2 + y − xy − x

https://dl.doubtnut.com/l/_uJDMemsxmCp8
https://dl.doubtnut.com/l/_b1OKDgKDUOHP
https://dl.doubtnut.com/l/_Bqp11pHzp2M2


17. factorize
(a)  - 6a + 2

Watch Video Solution

(3a − 1)2

18. Factorise : 

Watch Video Solution

(2x − 3)2 − 8x + 12

19. Factorise : 

Watch Video Solution

a3 + a − 3a2 − 3

https://dl.doubtnut.com/l/_s7jMdISTNBkE
https://dl.doubtnut.com/l/_HtfoKisvyXkF
https://dl.doubtnut.com/l/_nDSDyRV41ll7


20. 

Watch Video Solution

3ax − 6ay − 8by + 4bx

21. Factorise : 

Watch Video Solution

abx2 + a2x + b2x + ab

22. 

Watch Video Solution

x3 − x2 + ax + x − a − 1

https://dl.doubtnut.com/l/_7UJM9sDcDrjW
https://dl.doubtnut.com/l/_AARE7ix41u63
https://dl.doubtnut.com/l/_Ydq2dkhmcSii


23. Factorise 

Watch Video Solution

2x + 4y − 8xy − 1

24. 

Watch Video Solution

ab(x2 + y2) − xy(a2 + b2)

25. factorize the given expression

Watch Video Solution

a2 + ab(b + 1) + b3

https://dl.doubtnut.com/l/_UQ7rQN1uj7gM
https://dl.doubtnut.com/l/_zWH9EJiTjHri
https://dl.doubtnut.com/l/_QZCnlCP4WfQ3
https://dl.doubtnut.com/l/_0IiN00PPJBFw


26. factorize the given expression

Watch Video Solution

a3 + ab(1 − 2a) − 2b2

27. factorize : 

Watch Video Solution

2a2 + bc − 2ab − ac

28. 

Watch Video Solution

(ax + by)2 + (bx − ay)2

https://dl.doubtnut.com/l/_0IiN00PPJBFw
https://dl.doubtnut.com/l/_HAcJLJ8m6mG1
https://dl.doubtnut.com/l/_NGwWmIQiAFVU


29. 

Watch Video Solution

a(a + b − c) − bc

30. Factorise : 

Watch Video Solution

a(a − 2b − c) + 2bc

31. Factorise : 

Watch Video Solution

a2x2 + (ax2 + 1)x + a

https://dl.doubtnut.com/l/_gkWQFvpJRh95
https://dl.doubtnut.com/l/_7XPeQkF4DMYo
https://dl.doubtnut.com/l/_UlJf2EJlHJwm


Exercise 3 B

32. factorize : 

Watch Video Solution

ab(x2 + 1) + x(a2 + b2)

33. factorize : 

Watch Video Solution

x2 − (a + b)x + ab

34. Factorize 

Watch Video Solution

(x2 + − 2 − 3x + )
1

x2

3

x

https://dl.doubtnut.com/l/_VognZRfGbqCc
https://dl.doubtnut.com/l/_7wpBFC2co7sD
https://dl.doubtnut.com/l/_vy8T9GaAQuBf


1. 

Watch Video Solution

9x2 − 16y2

2. Factorise : 

Watch Video Solution

( x2 − y2)
25

4

1

9

3. Factorise : 

Watch Video Solution

81 − 16x2

https://dl.doubtnut.com/l/_l57CFF5iWx27
https://dl.doubtnut.com/l/_rIEbqdEYtOmC
https://dl.doubtnut.com/l/_GRY2Ov3yDNIT


4. Factorize 

Watch Video Solution

5 − 20x2

5. Factorize 

Watch Video Solution

2x3 − 48x

6. Factorise : 

Watch Video Solution

3a3b − 243ab3

https://dl.doubtnut.com/l/_whN0zZcA4KR6
https://dl.doubtnut.com/l/_O3crEAAwFD65
https://dl.doubtnut.com/l/_Ipy7ioUwF3D6


7. Factorize 

Watch Video Solution

3x3 − 48x

8. Factorise 

Watch Video Solution

27a2 − 48b2

9. 

Watch Video Solution

x − 64x3

https://dl.doubtnut.com/l/_I7KZspbX4Bzg
https://dl.doubtnut.com/l/_2R503qWmV0vl
https://dl.doubtnut.com/l/_2t6wVOwx7rpb


10. factorize : 

Watch Video Solution

8ab2 − 18a3

11. Factorize 

Watch Video Solution

150 − 6x2

12. 

Watch Video Solution

2 − 50x2

https://dl.doubtnut.com/l/_3ly0JRu2Wq3w
https://dl.doubtnut.com/l/_UFbqVrN410pw
https://dl.doubtnut.com/l/_nCoXUEHy3t4H


13. factorize : 

Watch Video Solution

20x2 − 45

14. factorize : 

Watch Video Solution

(3a + 5b)2 − 4c2

15. Factorise : 

Watch Video Solution

a2 − b2 − a − b

https://dl.doubtnut.com/l/_aj3KHNjoM2f3
https://dl.doubtnut.com/l/_qOcMD6xfh4tB
https://dl.doubtnut.com/l/_kDssyqSS7j9v


16. Factorize each of the following expressions :

Watch Video Solution

4a2 − 9b2 − 2a − 3b

17. Factorize: 

Watch Video Solution

a2 − b2 + 2bc − c2

18. factorize : 

Watch Video Solution

4a2 − 4b2 + 4a + 1

https://dl.doubtnut.com/l/_4o2Nout43a7t
https://dl.doubtnut.com/l/_ZHK6r5o4yjqx
https://dl.doubtnut.com/l/_y4aqOL0ZCqv1
https://dl.doubtnut.com/l/_czhWGnGUuDbT


19. factorize : 

Watch Video Solution

a2 + 2ab + b2 − 9c2

20. factorize : 

Watch Video Solution

108a2 − 3(b − c)2

21. Factorize

Watch Video Solution

(a + b)3 − a − b

22. factorize : x2 + y2 − z2 − 2xy

https://dl.doubtnut.com/l/_czhWGnGUuDbT
https://dl.doubtnut.com/l/_vKIJenCmrfDQ
https://dl.doubtnut.com/l/_6xzc9RHNIEQU
https://dl.doubtnut.com/l/_v35GKzTR710T


Watch Video Solution

23. Factorize each of the following expressions :

Watch Video Solution

x2 + 2xy + y2 − a2 + 2ab − b2

24. factorize : 

Watch Video Solution

25x2 − 10x + 1 − 36y2

25. Factorize 

W t h Vid S l ti

a − b − a2 + b2

https://dl.doubtnut.com/l/_v35GKzTR710T
https://dl.doubtnut.com/l/_yU8KGlKjoqoA
https://dl.doubtnut.com/l/_8g4C59iuvW2p
https://dl.doubtnut.com/l/_xvuWRHitePTR


Watch Video Solution

26. 

Watch Video Solution

a2 − b2 − 4ac + 4c2

27. Factorize 

Watch Video Solution

9 − a2 + 2ab − b2

28. Find the solutions of  . and the

no. of roots

Watch Video Solution

x3 − 5x2 − x + 5

https://dl.doubtnut.com/l/_xvuWRHitePTR
https://dl.doubtnut.com/l/_PtHxuklSemcI
https://dl.doubtnut.com/l/_xnv5fpXaFPR4
https://dl.doubtnut.com/l/_BHRYUMHhrC7m


29. factorize the given expression

Watch Video Solution

1 + 2ab − (a2 + b2)

30. factorize the given expression

Watch Video Solution

9a2 + 6a + 1 − 36b2

31. factorize the given expression


Watch Video Solution

x2 − y2 + 6y − 9

https://dl.doubtnut.com/l/_BHRYUMHhrC7m
https://dl.doubtnut.com/l/_BtDCHCOwY4Xo
https://dl.doubtnut.com/l/_TMurWSzepjV6
https://dl.doubtnut.com/l/_wrc35XNe9rCD


32. Factorise : 

Watch Video Solution

4x2 − 9y2 − 2x − 3y

33. factorize : 

Watch Video Solution

9a2 + 3a − 8b − 64b2

34. factorize : 

Watch Video Solution

x2 + − 3
1

x2

https://dl.doubtnut.com/l/_wrc35XNe9rCD
https://dl.doubtnut.com/l/_eutx8CDplTdG
https://dl.doubtnut.com/l/_QEldigQP918g
https://dl.doubtnut.com/l/_rflurz7xBqZY
https://dl.doubtnut.com/l/_dAPHeAYAYq7n


35. Factorize 

Watch Video Solution

x2 − 2 + − y2
1

x2

36. factorize : 

Watch Video Solution

x4 +
4

x4

37. Factorize .

Watch Video Solution

x8 − 1

38. Solve  =0. Find the value of x16x4 − 1

https://dl.doubtnut.com/l/_dAPHeAYAYq7n
https://dl.doubtnut.com/l/_6L2gQsFJnC4W
https://dl.doubtnut.com/l/_E7D66gZdwFNQ
https://dl.doubtnut.com/l/_cDKTdaNZ4cf2


Exercise 3 C

Watch Video Solution

39. factorize : 

Watch Video Solution

81x4 − y4

40. Find the roots of .

Watch Video Solution

x4 − 625

https://dl.doubtnut.com/l/_cDKTdaNZ4cf2
https://dl.doubtnut.com/l/_Cm7YHPnpGrQe
https://dl.doubtnut.com/l/_ZlIPDvR4mY5c


1. Find the roots of  if they exist

Watch Video Solution

x2 + 11x + 30

2. Find the roots of  if they exist

Watch Video Solution

x2 + 18x + 32

3. factorize : 

Watch Video Solution

x2 + 20x − 69

https://dl.doubtnut.com/l/_K67a4di8GCDu
https://dl.doubtnut.com/l/_6u6IBWxTyKut
https://dl.doubtnut.com/l/_ain21Jry28IT


4. factorize 

Watch Video Solution

x2 + 19x − 150

5. factorize : 

Watch Video Solution

x2 + 7x − 98

6. 

Watch Video Solution

x2 + 2√3x − 24

https://dl.doubtnut.com/l/_fIBVKRIy6jDG
https://dl.doubtnut.com/l/_t7LGUJZ91Kn6
https://dl.doubtnut.com/l/_vJ75StYAL9hf


7. 

Watch Video Solution

x2 − 21x + 90

8. Factorise 

Watch Video Solution

x2 − 22x + 120

9. Factorise : 

Watch Video Solution

x2 − 4x + 3

https://dl.doubtnut.com/l/_z2z5IHsBVUDN
https://dl.doubtnut.com/l/_3XP4nYcs7KzJ
https://dl.doubtnut.com/l/_58Radhz7WHTO


10. 

Watch Video Solution

x2 − 7√6x − 48

11. 

Watch Video Solution

x2 + 3√3x + 6

12. Factorise .

Watch Video Solution

x2 + 6√6x + 48

https://dl.doubtnut.com/l/_OyF65WWbqUXD
https://dl.doubtnut.com/l/_2e1P2jYbO5zY
https://dl.doubtnut.com/l/_veKCnZBTMgJh


13. 

Watch Video Solution

x2 + 5√5x + 30

14. Factorise 

Watch Video Solution

x2 − 24x − 180

15. 

Watch Video Solution

x2 − 32x − 105

https://dl.doubtnut.com/l/_IuIJKoEUsE2w
https://dl.doubtnut.com/l/_MwWGSUwIsazD
https://dl.doubtnut.com/l/_v7xdnzUa1gcF


16.  Factorise

Watch Video Solution

x2 − 11x − 80

17. Factorise 

Watch Video Solution

6 − x − x2

18. Factorize: 

Watch Video Solution

x2 − √3 x − 6

https://dl.doubtnut.com/l/_UJWDff5MaT01
https://dl.doubtnut.com/l/_J4Ag8nVp8e1j
https://dl.doubtnut.com/l/_CsMYPfrqRKNA


19. Factorise : 

Watch Video Solution

40 + 3x − x2

20. Factorise :

Watch Video Solution

x2 − 26x + 133

21. Factorise :

Watch Video Solution

x2 − 2√3x − 24

https://dl.doubtnut.com/l/_dGZ66kV8KRF5
https://dl.doubtnut.com/l/_T96pKoGBXxgL
https://dl.doubtnut.com/l/_lJAGSjctuirc


22. Factorise : 

Watch Video Solution

x2 − 3√5x − 20

23. Factorise : 

Watch Video Solution

x2 + √2x − 24

24. Factorize: 

Watch Video Solution

x2 − 2 √2 x − 30

https://dl.doubtnut.com/l/_z6fFcbRwYBws
https://dl.doubtnut.com/l/_U6ZRNfwT4mZ4
https://dl.doubtnut.com/l/_zniFNTYFkjH1


25. 

Watch Video Solution

x2 − x − 156

26. factorize the given expression


Watch Video Solution

x2 − 32x − 105

27. factorize the given expression


Watch Video Solution

9x2 + 18x + 8

https://dl.doubtnut.com/l/_4DnWujy3mP5I
https://dl.doubtnut.com/l/_6ZCHVJLKWcCX
https://dl.doubtnut.com/l/_L5hscYirVuLm


28. Factorise: 

Watch Video Solution

6x2 + 17x + 12

29. factorize the given expression


Watch Video Solution

18x2 − 15x − 25

30. factorize the given expression


Watch Video Solution

2x2 + 11x − 21

https://dl.doubtnut.com/l/_CNnMUu9L41yN
https://dl.doubtnut.com/l/_IqznFEivzbdG
https://dl.doubtnut.com/l/_9Hb9wi1quJpW


31. 

Watch Video Solution

15x2 + 2x − 8

32. 

Watch Video Solution

21x2 + 5x − 6

33. factorize the given expression


Watch Video Solution

24x2 − 41x + 12

https://dl.doubtnut.com/l/_suoOFcqL1uRm
https://dl.doubtnut.com/l/_n0ICJLPQKiu2
https://dl.doubtnut.com/l/_fyDmmbwM5oua


34. factorize the given expression


Watch Video Solution

3x2 − 14x + 8

35. factorize the given expression


Watch Video Solution

2x2 + 3x − 90

36. 

Watch Video Solution

√5x2 + 2x − 3√5

https://dl.doubtnut.com/l/_LZ4eqLurAQAy
https://dl.doubtnut.com/l/_h6s4jNECWQap
https://dl.doubtnut.com/l/_jzMr2ItuldwM


37. 

Watch Video Solution

2√3x2 + x − 5√3

38. 

Watch Video Solution

7x2 + 2√14x + 2 = 0

39. 

Watch Video Solution

6√3x2 − 47x + 5√3

https://dl.doubtnut.com/l/_uGFBagRb1x56
https://dl.doubtnut.com/l/_iR3qrEhNl54X
https://dl.doubtnut.com/l/_unvXLajJxaxC


40. Factorize: 

Watch Video Solution

5 √5 x2 + 20x + 3 √5

41. 

Watch Video Solution

√3x2 + 10x + 8√3

42. factorize the given expression 

Watch Video Solution

√2x2 + 3x + √2

https://dl.doubtnut.com/l/_zaHJoZYJf9OS
https://dl.doubtnut.com/l/_pQ1FUQMR5EqA
https://dl.doubtnut.com/l/_zn7v83kSfyBh


43. 

Watch Video Solution

2x2 + 3√3x + 3

44. factorize the given expression


Watch Video Solution

15x2 − x − 28

45. factorize the given expression


Watch Video Solution

6x2 − 5x − 21

https://dl.doubtnut.com/l/_a1ws1tYXJZVf
https://dl.doubtnut.com/l/_13d8Q12OAm2I
https://dl.doubtnut.com/l/_6T2gAoxveecR


46. factorize the given expression

Watch Video Solution

2x2 − 7x − 15

47. factorize the given expression


Watch Video Solution

5x2 − 16x − 21

48. factorize the given expression


Watch Video Solution

6x2 − 11x − 35

https://dl.doubtnut.com/l/_SeWW9JQTWb6T
https://dl.doubtnut.com/l/_RRtfXkdprml4
https://dl.doubtnut.com/l/_vlKbnaMLSOZp


49. factorize the given expression


Watch Video Solution

9x2 − 3x − 20

50. factorize the given expression


Watch Video Solution

10x2 − 9x − 7

51. 

Watch Video Solution

x2 − 2x +
7
16

https://dl.doubtnut.com/l/_2LA5YHhMwBiH
https://dl.doubtnut.com/l/_UrUc90KItAbk
https://dl.doubtnut.com/l/_GEroX8GflZkn


52. factorize the given expression


Watch Video Solution

x2 − 2x − 9
1

3

53. Factorize: 

Watch Video Solution

x2 + x +
12

35

1

35

54. Factorize: 

Watch Video Solution

21x2 − 2x +
1

21

https://dl.doubtnut.com/l/_X4GbSUYl43Gi
https://dl.doubtnut.com/l/_g5e75fDd574n
https://dl.doubtnut.com/l/_dZdaqhNa8ZHR


55. 

Watch Video Solution

x2 + 16x + 10
3

2

56. 

Watch Video Solution

x2 − x − 28
2

3
17
3

57. 

Watch Video Solution

x2 − x + 4
3

5

19

5

https://dl.doubtnut.com/l/_kMAlHmMofGzg
https://dl.doubtnut.com/l/_vBcx1PyS3H5Q
https://dl.doubtnut.com/l/_xBpT8XDYhXqT


58. Solve each of the following quadratic equations: 

Watch Video Solution

2x2 − x + = 0
1

8

59. 

Watch Video Solution

2(x + y)2 − 9(x + y) − 5

60. 

Watch Video Solution

9(2a − b)2 − 4(2a − b) − 13

https://dl.doubtnut.com/l/_jlnbFxQ6o9f9
https://dl.doubtnut.com/l/_KcO27Derr8u3
https://dl.doubtnut.com/l/_TzgUjZcSfByr
https://dl.doubtnut.com/l/_PfY81PwgIaJC


61. 

Watch Video Solution

7(x − 2y)2 − 25(x − 2y) + 12

62. 

Watch Video Solution

10(3x + )
2

− (3x + ) − 3
1

x

1

x

63. 

Watch Video Solution

6(2x − )
2

+ 7(2x − ) − 20
3

x

3

x

64. (a + 2b)2 + 101(a + 2b) + 100

https://dl.doubtnut.com/l/_PfY81PwgIaJC
https://dl.doubtnut.com/l/_wLDeL5njE2jp
https://dl.doubtnut.com/l/_NUTWCvFAXGus
https://dl.doubtnut.com/l/_0QZitUYeyBqD


Exercise 3 D

Watch Video Solution

65. 

Watch Video Solution

4x4 + 7x2 − 2

66. Evaluate  .

Watch Video Solution

{(999)2 − 1}

https://dl.doubtnut.com/l/_0QZitUYeyBqD
https://dl.doubtnut.com/l/_c7f6e0bPt1ND
https://dl.doubtnut.com/l/_k83OeKYhcTvL


1. Expand 

(i)  


(ii)  


(iii) 

Watch Video Solution

(a + 2b + 5c)2

(2a + b + c)2

(a − 2b − 3c)2

2. Expand 

(i)  


(ii)  


(iii) 

Watch Video Solution

(2a − 5b − 7c)2

( − 3a + 4b − 5c)2

( a − b + 2)
2

1
2

1

4

https://dl.doubtnut.com/l/_kcQKFBcfUolk
https://dl.doubtnut.com/l/_0OiE05cJGQwr


3. Factorise:
 (i)


 (ii)

Watch Video Solution

4x2 + 9y2 + 16z2 + 12xy − 24yz − 16xz

2x2 + y2 − 2√2xy + 4√2yz − 8xz

4. Factorise

Watch Video Solution

9x2 + 16y2 + 4z2 − 24xy + 16yz − 12xz

5. 

Watch Video Solution

25x2 + 4y2 + 9z2 − 20xy − 12yz + 30xz

https://dl.doubtnut.com/l/_cSXw4DxyVWcJ
https://dl.doubtnut.com/l/_c7VKuZKoGfAI
https://dl.doubtnut.com/l/_08z8dvZFtbBK


Watch Video Solution

6. Factorise

Watch Video Solution

16x2 + 4y2 + 9z2 − 16xy − 12yz + 24xz

7. Evaluate 

 


 


Watch Video Solution

(i)(99)2

(ii)(995)2

(iii)(107)2

https://dl.doubtnut.com/l/_08z8dvZFtbBK
https://dl.doubtnut.com/l/_zjTxkMxWX10m
https://dl.doubtnut.com/l/_4GBAMjBorUgt


Exercise 3 E

1. Expand 

(i)  


(ii)  


(iii) 

Watch Video Solution

(3x + 2)3

(3a + )
3

1

4b

(1 + a)
32

3

2. Expand 

(i)  


(ii)  


(iii) 

(5a − 3b)3

(3x − )
3

5

x

( a − 2)
3

4
5

https://dl.doubtnut.com/l/_fCe8tBqmgBuC
https://dl.doubtnut.com/l/_VNAEnU30Xh5i


Watch Video Solution

3. Factorize:


Watch Video Solution

8a3 + 27b3 + 36a2b + 54ab2

4. Factorize:


Watch Video Solution

64a3 − 27b3 − 144a2b + 108ab2

5. Factorise 

Watch Video Solution

1 + a3 + +
27
125

9a

5

27a2

25

https://dl.doubtnut.com/l/_VNAEnU30Xh5i
https://dl.doubtnut.com/l/_iO0i1tdHY7aD
https://dl.doubtnut.com/l/_oFzQzFeBaeZy
https://dl.doubtnut.com/l/_OXw455aj2EJy


6. Factorize:


Watch Video Solution

125x3 − 27y3 − 225x2y + 135xy2

7. Factorise 

Watch Video Solution

a3x3 − 3a2bx2 + 3ab2x − b3

8. Factorise 

Watch Video Solution

a3 − a2 + a − 8
64
125

96

25
48
5

https://dl.doubtnut.com/l/_OXw455aj2EJy
https://dl.doubtnut.com/l/_RjuQjMQJizGD
https://dl.doubtnut.com/l/_nfSJ647T8bbg
https://dl.doubtnut.com/l/_Q1B3krZFffjc


Exercise 3 F

9. Factorise 

Watch Video Solution

a3 − 12a(a − 4) − 64

10. evaluate using suitable identities 1 .  2. 

Watch Video Solution

(99)3 (103)3

1. 

Watch Video Solution

x3 + 27

https://dl.doubtnut.com/l/_2U49JTDlItjd
https://dl.doubtnut.com/l/_0SjJ24PvEXpe
https://dl.doubtnut.com/l/_fe5OzNxYomj3


2. 

Watch Video Solution

27a3 + 64b3

3. 

Watch Video Solution

125a3 +
1

8

4. 

Watch Video Solution

216x3 +
1

125

https://dl.doubtnut.com/l/_fe5OzNxYomj3
https://dl.doubtnut.com/l/_duCjRUFHFUbK
https://dl.doubtnut.com/l/_T4P1rZSCOr1U
https://dl.doubtnut.com/l/_qYSk9dAzB5cu


5. 

Watch Video Solution

16x2 + 54x

6. 

Watch Video Solution

7a3 + 56b3

7. 

Watch Video Solution

x5 + x2

https://dl.doubtnut.com/l/_KzJSZ9lH5SHY
https://dl.doubtnut.com/l/_FhhjLpsZ1P8v
https://dl.doubtnut.com/l/_RHO2MJy6xBxW


8. 

Watch Video Solution

a3 + 0.008

9. Factorize: 

Watch Video Solution

1 − 27 a3

10. 

Watch Video Solution

64a3 − 343

https://dl.doubtnut.com/l/_qZqQ3UyCItZH
https://dl.doubtnut.com/l/_QyaBR0wsrK4v
https://dl.doubtnut.com/l/_UVA8wdS93u5F


11. 

Watch Video Solution

x3 − 512

12. 

Watch Video Solution

a3 − 0.064

13. 

Watch Video Solution

8x3 −
1

27y3

https://dl.doubtnut.com/l/_QPwHZTCkkyXY
https://dl.doubtnut.com/l/_ZOQt3Hhlchxw
https://dl.doubtnut.com/l/_28RPqv77Hl6E


14. Factorize: 

Watch Video Solution

− 8y3
x3

216

15. Factorise : 

Watch Video Solution

x − 8xy3

16. 

Watch Video Solution

32x4 − 500x

https://dl.doubtnut.com/l/_cT5D8X27R4xR
https://dl.doubtnut.com/l/_wyG3ZJnNcQ6I
https://dl.doubtnut.com/l/_tGrfchqfPNSv


17. 

Watch Video Solution

3a7 − b − 81a4b4

18. Factorize 

Watch Video Solution

x4y4 − xy

19. 

Watch Video Solution

8x2y2 − x5

https://dl.doubtnut.com/l/_vH7hq61W60rH
https://dl.doubtnut.com/l/_iEKRKcD6GKJd
https://dl.doubtnut.com/l/_NafAEdIWGRAO


20. Factorize: 

Watch Video Solution

1029 − 3x3

21. 

Watch Video Solution

x6 − 729

22. Factorize 

Watch Video Solution

x9 − y9

https://dl.doubtnut.com/l/_rWQuLEgJIL7z
https://dl.doubtnut.com/l/_NoGybNMryJJp
https://dl.doubtnut.com/l/_ZWJYoL7PwVH9


23. Factorise:

Watch Video Solution

(a + b)3 − (a − b)3

24. Factorise , 

Watch Video Solution

a3 − − 2a +
1

a3

2

a

25. Factorize: 

Watch Video Solution

a3 + 3a2b + 3ab2 + b3 − 8

https://dl.doubtnut.com/l/_cYkKr0KI0nAa
https://dl.doubtnut.com/l/_iD34bNN2Bo2J
https://dl.doubtnut.com/l/_mkBxSPF8Ro2B


26. Factorize: 

Watch Video Solution

a3 − − 2a +
1

a3

2

a

27. 

Watch Video Solution

2a3 + 16b3 − 5a − 10b

28. Factorize: 

Watch Video Solution

a6 + b6

https://dl.doubtnut.com/l/_5cetCc2IERUx
https://dl.doubtnut.com/l/_w0LmOlrexbC3
https://dl.doubtnut.com/l/_cL4KPNqgvjNV


29. 

Watch Video Solution

a12 − b12

30. Factorize: 

Watch Video Solution

x6 − 7x3 − 8

31. 

Watch Video Solution

x3 − 3x2 + 3x + 7

https://dl.doubtnut.com/l/_n72WrzzGIrJG
https://dl.doubtnut.com/l/_q1qcO299SsKz
https://dl.doubtnut.com/l/_D7NlfyEdItLk


32. 

Watch Video Solution

(x + 1)3 + (x − 1)3

33. 

Watch Video Solution

(2a + 1)3 + (a − 1)3

34. Factorize: 

Watch Video Solution

8(x + y)3 − 27(x − y)3

https://dl.doubtnut.com/l/_MT047jZpj7Oj
https://dl.doubtnut.com/l/_kNFHOtASa9Mp
https://dl.doubtnut.com/l/_Do7mP3Se4n2u


35. 

Watch Video Solution

(x + 2)3 + (x − 2)3

36. 

Watch Video Solution

(x + 2)3 − (x − y)3

37. Prove that

.

Watch Video Solution

= 1
0.85 × 0.85 × 0.85 + 0.15 × 0.15 × 0.15

0.85 × 0.85 − 0.85 × 0.15 + 0.15 × 0.15

https://dl.doubtnut.com/l/_358BxyVwsbEp
https://dl.doubtnut.com/l/_44nD2AJw0aTo
https://dl.doubtnut.com/l/_27cNGchdelTV
https://dl.doubtnut.com/l/_2kXlPm5GS9RW


Exercise 3 G

38. Prove that .

Watch Video Solution

= 50
59 × 59 × 59 − 9 × 9 × 9

59 × 59 + 59 × 9 + 9 × 9

1. Find the product.

Watch Video Solution

(x + y − z)(x2 + y2 + z2 − xy + yz + zx)

2. Find the product.

(x − y − z)(x2 + y2 + z2 + xy − yz + xz)

https://dl.doubtnut.com/l/_2kXlPm5GS9RW
https://dl.doubtnut.com/l/_E9V6ZkJedAWZ
https://dl.doubtnut.com/l/_bOASjwymHpeO


Watch Video Solution

3. Find the product.

Watch Video Solution

(x − 2y + 3)(x2 + 4y2 + 2xy + 6y − 3x + 9)

4. Find the product.

Watch Video Solution

(3x − 5y − 4)(9x2 + 25y2 + 15xy − 20y + 12x + 16)

5. Facorise: 125a3 + b3 + 64c3 − 60abc

https://dl.doubtnut.com/l/_bOASjwymHpeO
https://dl.doubtnut.com/l/_XkNqXtcJNpao
https://dl.doubtnut.com/l/_C9i5uQZAU3u0
https://dl.doubtnut.com/l/_ktWq8TCkowsY


Watch Video Solution

6. Facorise: 

Watch Video Solution

a3 + 8b3 + 64c3 − 24abc

7. Facorise: 

Watch Video Solution

1 + b3 + 8c3 − 6bc

8. Facorise: 

Watch Video Solution

216 + 27b3 + 8c3 − 108bc

https://dl.doubtnut.com/l/_ktWq8TCkowsY
https://dl.doubtnut.com/l/_3lcjeUFlw30A
https://dl.doubtnut.com/l/_rdUbGjrPPkG8
https://dl.doubtnut.com/l/_RK18ByuJFrfw


9. Facorise: 

Watch Video Solution

27a3 − b3 + 8c3 + 18abc

10. Facorise: 

Watch Video Solution

8a3 + 125b3 − 64c3 + 120abc

11. Facorise: 

Watch Video Solution

8 − 27b3 − 343c3 − 126bc

https://dl.doubtnut.com/l/_RK18ByuJFrfw
https://dl.doubtnut.com/l/_s9kGqvhvxqVX
https://dl.doubtnut.com/l/_rerBliVYCDnn
https://dl.doubtnut.com/l/_1vTvduinikHY


12. Facorise: 

Watch Video Solution

125 − 8x3 − 27y3 − 90xy

13. 

Watch Video Solution

2√2a3 + 16√2b3 + c3 − 12abc

14. Factorize 

Watch Video Solution

27x3 − y3 − z3 − 9xyz

https://dl.doubtnut.com/l/_DICtqKtLLDIj
https://dl.doubtnut.com/l/_I2M3X4EUzCi7
https://dl.doubtnut.com/l/_0vQzX2xGUmLM


15. 

Watch Video Solution

2√2a3 + 3√3b3 + c3 − 3√6abc

16. Factorize:


Watch Video Solution

3√3a3 − b3 − 5√5c3 − 3√15abc

17. 

Watch Video Solution

(a − b)3 + (b − c)3 + (c − a)3

https://dl.doubtnut.com/l/_Xm1UJf6U6v3M
https://dl.doubtnut.com/l/_YkSnR9gy6P3t
https://dl.doubtnut.com/l/_F9d8p48jyxx0


18. Factorize:


Watch Video Solution

(a − 3b)3 + (3b − c)3 + (c − a)3

19. 

Watch Video Solution

(3a − 2b)3 + (2b − 5c)3 + (5c − 3a)3

20. 

Watch Video Solution

(5a − 7b)3 + (7b − 9c)3 + (9c − 5a)3

https://dl.doubtnut.com/l/_z1e7irpdr8js
https://dl.doubtnut.com/l/_XhVOFGsSyzE3
https://dl.doubtnut.com/l/_1FqfokOGvet6


21. 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

a3(b − c)3 + b3(c − a)3 + c3(a − b)3

3abc

3abc(b − c)(c − a)(a − b)

3(b − c)(c − a)(a − b)

22. Evaluate 

 
(i)( − 12)3 + 73 + 53

https://dl.doubtnut.com/l/_YYgslWr8PTii
https://dl.doubtnut.com/l/_0ZDGtR0BGAki


Watch Video Solution

(ii)(28)3 + ( − 15)3 + ( − 13)3

23. Prove that

Watch Video Solution

: (a + b + c)3 − a3 − b3 − c3 = 3(a + b)(b + c)(c + a)

24. If  are all non zero and  ,

prove that 

.

Watch Video Solution

a, b, c a + b + c = 0

+ + = 3
a2

bc

b2

ca

c2

ab

https://dl.doubtnut.com/l/_0ZDGtR0BGAki
https://dl.doubtnut.com/l/_EthlFqyoL5xO
https://dl.doubtnut.com/l/_EpaHKPepKy6o


Multiple Choice Questions Mcq

25. If  and , find the

value of .

Watch Video Solution

a + b + c = 9 a2 + b2 + c2 = 35

(a3 + b3 + c3 − 3abc)

1. If  is a factor of the polynomial 

then the value of k is

A. 

B. 

(x + 1) (2x2 + kx)

−2

−3

https://dl.doubtnut.com/l/_EpaHKPepKy6o
https://dl.doubtnut.com/l/_F9P3bMGgcyhL
https://dl.doubtnut.com/l/_oLzlvVzHbHBl


C. 

D. 

Answer: C

Watch Video Solution

2

3

2. The value of  is

A. 

B. 

C. 

D. 

(249)2 − (248)2

12

477

487

497

https://dl.doubtnut.com/l/_oLzlvVzHbHBl
https://dl.doubtnut.com/l/_bChPo7EEws7C


Answer: D

Watch Video Solution

3. If , where  then the value

of  is

A. 1

B. -1

C. 0

D. 

Answer: C

h id l i

+ = − 1
x

y

y

x
x, y ≠ 0

(x3 − y3)

1

2

https://dl.doubtnut.com/l/_bChPo7EEws7C
https://dl.doubtnut.com/l/_x5I2LaJ9aMyk


Watch Video Solution

4. If  then  is

A. 0

B. abc

C. 2abc

D. 3abc

Answer: D

Watch Video Solution

a + b + c = 0 (a3 + b3 + c3)

https://dl.doubtnut.com/l/_x5I2LaJ9aMyk
https://dl.doubtnut.com/l/_D6rlIhldRZQr


5. If  then the

value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(3x + )(3x − ) = 9x2 − p
1

2

1

2

p

0

−
1

4

1

4

1

2

6. The coefficient of x in the expression of  is(x + 3)3

https://dl.doubtnut.com/l/_zdFE7I6m1pdm
https://dl.doubtnut.com/l/_a85ldKUMN2Jd


A. 1

B. 9

C. 18

D. 27

Answer: D

Watch Video Solution

7. Which of the following is a factor of

A. 

(x + y)3 − (x3 + y3)?

x2 + y2 + 2xy

https://dl.doubtnut.com/l/_a85ldKUMN2Jd
https://dl.doubtnut.com/l/_jxFO4yMcQZ5T


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − xy

xy2

3xy

8. One of the factors of  is

A. 

B. 

C. 

(25x2 − 1) + (1 + 5x)2

5 + x

5 − x

5x − 1

https://dl.doubtnut.com/l/_jxFO4yMcQZ5T
https://dl.doubtnut.com/l/_AOvfivR9wuot


D. 

Answer: D

Watch Video Solution

10x

9. If  is a factor of 

then 

A. 

B. 

C. 

D. 

(x + 5) p(x) = x3 − 20x + 5k

k = ?

−5

5

3

−3

https://dl.doubtnut.com/l/_AOvfivR9wuot
https://dl.doubtnut.com/l/_1WG2GMDrTFpy


Answer: B

Watch Video Solution

10. If  are factors of 

 then

A. 

B. 

C. 

D. 

Answer: B

h id l i

(x + 2) and (x − 1)

(x3 + 10x2 + mx + n)

m = 5, n = − 3

m = 7, n = − 18

m = 17, n = − 8

m = 23, n = − 19

https://dl.doubtnut.com/l/_1WG2GMDrTFpy
https://dl.doubtnut.com/l/_7AjznOL9l9SV


Watch Video Solution

11. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(104 × 96) = ?

9894

9984

9684

9884

https://dl.doubtnut.com/l/_7AjznOL9l9SV
https://dl.doubtnut.com/l/_eP8h7yh3Afoo


12. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(305 × 308) = ?

94940

93840

93940

94840

13. (207 × 193) = ?

https://dl.doubtnut.com/l/_kAEO3BTvsWZR
https://dl.doubtnut.com/l/_uIhZF4cYsK7I


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

39851

39951

93940

38951

14. 

A. 

B. 

4a2 + b2 − 4ab + 8a − 4b + 4 = ?

(2a + b + 2)2

(2a − b + 2)2

https://dl.doubtnut.com/l/_uIhZF4cYsK7I
https://dl.doubtnut.com/l/_RCRFpCmuBk5a


C. 

D. None of these

Answer: B

Watch Video Solution

(a + 2b + 2)2

15. 

A. 

B. 

C. 

D. None of these

(x2 − 4x − 21) = ?

(x − 7)(x − 3)

(x + 7)(x − 3)

(x − 7)(x + 3)

https://dl.doubtnut.com/l/_RCRFpCmuBk5a
https://dl.doubtnut.com/l/_f2Ni7IB9pUrA


Answer: C

Watch Video Solution

16. 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

(4x2 + 4x − 3) = ?

(2x − 1)(2x − 3)

(2x + 1)(2x − 3)

(2x + 3)(2x − 1)

https://dl.doubtnut.com/l/_f2Ni7IB9pUrA
https://dl.doubtnut.com/l/_dO4keiUMpKbV


17. 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

6x2 + 17x + 5 = ?

(2x + 1)(3x + 5)

(2x + 1)(2x − 3)

(6x + 5)(x + 1)

18.  is a factor of the polynomial(x + 1)

https://dl.doubtnut.com/l/_dO4keiUMpKbV
https://dl.doubtnut.com/l/_ibpi4JSTUKf7
https://dl.doubtnut.com/l/_duuekfTj9isQ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x3 − 2x3 + x + 2

x3 + 2x2 + x − 2

(x3 + 2x2 − x − 2

x3 + 2x2 − x + 2

19. Factorise 

A. 

B. 

3x3 + 2x2 + 3x + 2 = ?

(3x − 2)(x2 − 1)

(3x − 2)(x2 + 1)

https://dl.doubtnut.com/l/_duuekfTj9isQ
https://dl.doubtnut.com/l/_IswymKdjpBF4


C. 

D. 

Answer: D

Watch Video Solution

(3x + 2)(x2 − 1)

(3x + 2)(x2 + 1)

20. If  then 

A. 

B. 

C. 

D. 

a + b + c = 0 ( + + ) = ?
a2

bc

b2

ca

c2

ab

1

0

−1

3

https://dl.doubtnut.com/l/_IswymKdjpBF4
https://dl.doubtnut.com/l/_RRYQRwmItk0c


Answer: D

Watch Video Solution

21. If  and , the

value of 

A. 108

B. 207

C. 669

D. 729

Answer: A

h id l i

x + y + z = 9 xy + yz + zx = 23

(x3 + y3 + z3 − 3xyz) = ?

https://dl.doubtnut.com/l/_RRYQRwmItk0c
https://dl.doubtnut.com/l/_SzWjowAISCgv


Watch Video Solution

22. If  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = − 1
a

b

b

a
(a3 − b3) = ?

−3

−2

−1

0

https://dl.doubtnut.com/l/_SzWjowAISCgv
https://dl.doubtnut.com/l/_lEJW1gkigkG2

